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TEEOBHICIVRENOB EHIHERTHE | TREORMICEVRENOM EHITERTHL TEEOBHICIVRENOB EHIEATHE | TREORMICEYRENOM EHITERT BL
BESNDH HESNDH BESND AN HBESNDH
THRED (BE) EIH TRED (BE) BN
TmUTDSEE. 5% . TREQHBOZIH . TmMUTOGE. 5% . TREQHBEOZIN R
. DBE=LD HA TSN DR 3mA 2K RSN DX . DBE=LD HA NN DR 3mA iz 5K RSN DX
FE BRI R 0D X 100kN/m2 %48 % 2 K 5k FEWTAIRR O X 100kN/m2 %48 % 2 K igh
NOKRES| +HE | hOKREFS| +H% ADOKES | +R% ADKES| +FE NOKRES| +HE | AOKREFS| +H% ADOKES | +RE% ADKES| +R%
DI5BbEwK DI K2PX=3 - FN NEE |D3BERK NEE | D3B\EK NE= DNIS5b&wK DI K2P1=3 PN NEES |D3BHERK NEE | DI3BwEK NE=
DHLD DHLO LD LD LD DHLO LD LD
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
22 ~ 23 - - 97.84 1.00 - - 10.24 2.03
23 ~ 24 - - 100.00 1.00 - - 10.24 2.03
24 ~ 25 131.47 1.00 100.00 1.00 = = 11.83 2.34
25 ~ 26 131.47 1.00 100.00 1.00 - - 11.83 2.34
26 ~ 27 152.82 1.00 100.00 1.00 - - 15.16 3.00
27 ~ 28 160.39 1.00 100.00 1.00 18.43 3.65 15.16 3.00
28 ~ 29 160.39 1.00 100.00 1.00 18.43 3.65 15.16 3.00
29 ~ 30 159.20 1.00 100.00 1.00 18.27 3.61 15.16 3.00
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